	CURRY KITCHEN	Size - 6.0x2.5x2.7m	GUWAHATI	INDOOR	PO - Semol	ina/PO	/23-24/0	00428 dated	1: 13.02.2024	BIRYANI BHAI		LUCKNOW	Size - 6.0x2.5x2.7m
S.No	Head	Description	Drawing Ref No.	Make	Size	иом	Qty	Rate	Amount(INR)	NEW QTY	Rate	Amount(INR)	Remarks
1	MS Work	Providing & fixing of MS_work in single section fixed with or without connecting plate including cutting, hoisting, fixing in position and applying a priming coat of approved red oxide steel primer at the top all complete. Item includes all MS steel items including sections, MS plates of grade Yst-250,cleats,stiffners, anchor fasteners/ bolts, sleeves for pipes and wire management etc. as required for fixing.		Jindal/Tata	MB Sheet	Kgs	670	165	1,10,550	560	165	92,395	
2	Base & Flooring	Providing and fixing of 18mm FR Ply with 1.5mm thick aluminium checker sheet finish mounted over MS pipe 50mm SHS , C/C 600x600mm grid, 4mm thick MS Sheet		Century Ply, Tata/ Jindal	MB Sheet	Sqm	15	4,000	61,200	15	4,000	61,408	
3	ACP Work (for Ceiling)	Providing , installing and fixing in position FR  Aluminium Composite Panel Cladding for linear as well as curvilinear portions of the building , for all heights and all levels etc. including: a) Structural analysis & design and preparation of shop drawings') Back framing for panel as suited to site condition.eg.Alluminium or MS box sections etc c) Providing, fabricating and supplying and fixing panels of aluminium composite panel cladding in pan shape in metallic colour of approved shades as per specifications below. The Contractor shall provide wall with aluminium composite panel cladding, having all the performance characteristics		Timex Alu decor or equivalent	MB Sheet	Sqm	22	3,500	75,600	-	3,500	-	Not Required
4	Shade for Roof	Providing & fixing of of 6mm Semi Transparent/opac sheet with MS Framing fix with self screw with required paint finish. (note: MS Structure is not included in this cost)			6x 4	Sqm	24	1,500	36,000	-	1,500	-	Not Required
5	Rafter's Foof	Providing and fixing of Wooden Rafter 12mm HDMR Laminate cladding with approved shade matt finish.		Century Ply & Merino		Rmt.	19	1,650	31,680	-	1,650	-	Not Required
6	Plywood Panelling	Providing , installing and fixing in position FR Plywood for linear as well as curvilinear portions of the building , for all heights and all levels & one side laminate finish etc. (MS Frame work charged seperatly) Includes all the performance characteristics all complete with 12mm PR Ply.		Century or equivalent		Sqm	51	3,200	1,63,584	67	3,200	2,13,723	
7	Wall Tile	Providing , installing and fixing in of yellow moroccon pattern tile on back wall		Somany/Kajaria or equivelant	MB Sheet	Sqm	20	2,400	47,520	15	2,400	37,066	
8	Corian Cladding	Providing & fixing of 12mm Acrylic solid surface outside of side partion & front low height partion (Base Rate : 850 Sqft.)		LG Hi mac	MB Sheet	Sqm	3	12,500	37,375	6	12,500	68,936	
9	Paint	Apply of 2 coat white duco paint on pillar & side partition left&right		Asian Paint	MB Sheet	Sqm	7	2,400	17,712	10	2,400	24,365	
10	Wooden Panelling	Providing & fixing of vertical groove laminate outside of side partion & horizontal groove wooden front full height cladding on existing plywood partition (Marino Laminate Base Rate: 65 Sqft.)			2400x600x2, 2250x900x1,	Sqm	5	3,600	18,630	-	3,600	-	Not Required
11	Flap Door	Providing & Fixing of Slab & Flap door made of 18mm FR Ply with solid acrylic surface & inside laminate finish , Hydraulic hinges, SS knob. tower bolt etch.			1x.9	EA	1	8,800	8,800	1	8,800	8,800	
12	Awning/Canvas	P&F Awnings on both of side Red & White Colour SRF make cloths with 40 mm x 40mm x3mm Thick Asian make squire aluminium pipe frame including 02 coat red oxide paint, 02 coat Asian make primer, and 02 coat Asian make oil paint on Rolling frame.		Cavas, HP Latex	6000x1000x1, 3000x1000x2	Sqm	12	3,600	43,200	-	3,600	-	Not Required

13	Kitchen Wooden Counter	Providing & Installation of counter made of FR Plywood with approved shade laminate finish, , two solft close drawers storage shutter door, (As per approved GFC)	2	Century Ply, FGV hinges	1900x750x900	No.	2	36,000	72,000	-	36,000	-	Cant used
14	Sink Cabinet	Providing and fixing of Sink counter made of 18mm FR Ply with laminate finish, 450x500mm SS 304 sink, shutter storage, plumbing fitting etc.(As Per approved GFC)	9	Century/Merino, SS Sink	1500x750x900	No.	1	45,760	45,760	1	45,760	45,760	Note; Change of Laminate & finishing charged separetly
15	POS Counter	Providing and fixing of POS counter made of 18mm FR Ply with solid acryilc surface top finish, Step & inside laminate finish, two drawer, key board tray, storage, wire manager etc. (As per approved GFC)	7	Century/Merino/ FGV	825x750x900	No.	2	45,000	90,000	1	45,000	45,000	Note; Change of Laminate & finishing charged separetly
16	Skink New Sensor Tap	Providing & Fitting of Sensor Tap as required		Euronics		Nos.	1	7,500	7,500	1	7,500	7,500	
17	Water Pump	Providing & Fitting of Waterpump as required (Crompton AQUAGOLD 100-33 Residential Water Pump Self Priming Regenerative 1 HP Single Phase)		Crompton		Nos.	1	8,500	8,500	1	8,500	8,500	
18	Site Storages	Providing and installation of make of 18mm & 12mm Fr Plywood with approved laminate finish with hinges soft closed shutter.		Century/Merino/ FGV	1155x650x640	Nos.	1	22,500	22,500	1	22,500	22,500	If will be used after refabrication,change of laminate & drawer removal, addon base & back
19	Pendant Light	LED Light fixtures-Supply, installation, testing & commissioning of lighting fittings/ fixtures complete with LED driver, complete as required:- (Hanging Lamp)		Havells, Syska or equivalent		No.	5	2,500	12,500	5	2,500	12,500	
20	Linear Profile Light	Providing & fixing linear profile light consealed in Rafter		Custom Make	1200x1	No.	8	1,800	14,400	8	1,800	14,400	
21	Electrical	Supply and Laying of 1.5mm, 2.5mm & 4sqmm wiring with PVC conduit, 5amp & 15amp switch socket with box & plate,, MCB, ELCB, as per requirement or as approved electrical drawing		Polycab, Finolex, Roma, Crompton	6000x3000	No.	1	88,000	88,000	1	88,000	88,000	
22	Industrial Socket	Industrial Socket & Panel Box (32amp )		Orompton		No.	8	3,500	28,000	3	3,500	10,500	
23	Branding	Supply and pasting of HP latex printed artwork on grey back LG/Ivory/Pioneer media as per approved design artwork		HP Latex, 3M , LG Vinyl or equivalent		Sqft.		150	-	-	150	-	If Required
24	Curry Kitchen LOGO	Front logo signaged fixed front chiller counter, UV Printed 3mm raised acrylic .		A cast , NGX , Osram	900x900	No.	1	12,000	12,000	-	12,000	-	Not Required
25	Curry Kitchen Header Signage	Providing and fixing of backlit channelium raised signages, NGX LED & Osram water proof supply with all required support structure (2100x 500x 1pcs)		A cast , NGX , Osram		No.	1	22,500	22,500	1	22,500	22,500	Briyan Bhai Signage
26	Menu Board	Providing and fixing of Auto snap channel 32x32 powder coated with acrylic 040 & Clear Acrylic, edge lit LED, Changeable Translite Print.		A cast , NGX , Osram	2x 3	No.	3	4,500	13,500	3	4,500	13,500	
27	TV Screen Menu	32" LED TV with hanging Stand		Samsung/LG		No.		28,000	-	-	28,000	-	If Required
28	CCTV Camera (4 Channel DVR)	DVR 5MP, 1 TB, 4 nos. 5MP Camera with Audio, 16" Display Monitor, 90mtr. D Link Wire		Hikvision		Set	1	48,000	48,000	1	48,000	48,000	
29	Installation	Guwahati Airport				EA	1	58,000	58,000	1	52,000	52,000	T3 DOMESTIC LUCKNOW, Revised Cost
30	Transportation	Guwahati Airport				EA	1	78,000	78,000	1	24,000	24,000	T3 DOMESTIC LUCKNOW, Revised Cost
31	Labour Union Charges Side Wall Partition	Extra as on actual Supply & Fixing of Wooden laminate finish Partition, make of MS 40mm SHS pipe Outer Frame, with 18mm HMDR CNC Jalli with Laminate with Match color paint in groove HMDR Cladding with approved wooden laminate finish, cutout as per design.			2.44x2.150x2	Sqm.	10	7,400	74,000	-	7,400	-	Not Required  Not Required
	TOTAL (A)								13,47,011			9,21,352	
	Coffee Box	BOQ for Coffee Cart: 4x 2.6x 3 (mtr.)	GUWAHATI	INDOOR	PO -Semolina/PO/23-24/000430 dated :				dated: 13.02.2024 BIRYANI BHAI			LUCKNOW	Size - 6.0x2.5x2.7m
S.No	Head	Description	Refence Picture	Make	Size(in mm)	Unit	Qty	Rate	Amount (INR)				
1	MS Work	Providing & fixing of <u>MS</u> work in single section fixed with or without connecting plate including cutting, hoisting, fixing in position and applying a priming coat of approved red oxide steel primer and powder coated paint of approved shared at the top all complete, Item includes all MS steel items including sections, MS plates of grade Yst-250,cleats,stiffners, anchor fasteners/ bolts, sleeves for pipes and wire management etc, as required for fixing.		Jindal/Tata		Kgs	370	165	61,050	-			Unutilized

2	Base & Flooring	Providing and fixing of 18mm FR Ply with 1.5mm thick aluminium checker sheet finish mounted over MS pipe 50mm SHS , C/C 600x600mm grid,	Century Ply, Tata/	400x2.50	Sqm	10.08	4,000	40,320	-			Unutilized
		4mm thick MS Sheet	Jindal									
3	ACP Work (Ceiling)	Providing , installing and fixing in position FR  Auminium Composite Panel Cladding. for linear as well as curvilinear portions of the building , for all heights and all levels etc. including: a) Structural analysis & design and preparation of shop drawings') Back framing for panel as suited to site condition.eg.Alluminium or MS box sections etc.) Providing, fabricating and supplying and fixing panels of aluminium composite panel cladding in pan shape in metallic colour of approved shades as per specifications below. The Contractor shall provide wall with aluminium composite panel cladding, having all the performance characteristics all complete. (approved Shade) (MS Structure cost not included)	Timex Alu decor or equivalent	4x3.6	Sqm	14	3,500	50,400	-			Unutilized
4	Shade for Roof	Providing & fixing of of 6mm Semi Transparent/opac sheet with MS Framing fix with self screw with required paint finish. (note: MS Structure is not included in this cost)		4x 4	Sqm	16	1,500	24,000	-			Unutilized
5	Rafter's Foof	Providing and fixing of Wooden Rafter 12mm HDMR Laminate cladding with approved shade matt finish.	Century Ply & Veneer		Rmt.	12	1,650	19,800	-			Unutilized
6	Plywood Panelling	Providing , installing and fixing in position FR Plywood for linear as well as curvilinear portions of the building , for all heights and all levels & one side laminate finish etc. (MS Frame work charged seperatly) includes all the performance characteristics all complete with 12mm PR Ply.	Century or equivalent		Sqm	40.32	3,200	1,29,024	-			Unutilized
7	Wall Tile	Providing , installing and fixing in of red brick pattern tile on back wall	Customise Make	4000x2700	Sqm	11	2,400	26,400	-			Unutilized
8	Corian Cladding	Providing & fixing of 12mm Acrylic solid surface outside of side partion & front low height partion (Base Rate : 850 Sqft.)	LG Hi mac	4000x1000x1	Sqm	4	12,500	50,000	-			Unutilized
9	Paint	Apply of black duco paint on pillar & side partition left&right	Duco Paint	2400x600 x2, 300x3000x4	Sqm	6	2,400	14,400	-			Unutilized
10	Flap Door	Providing & Fixing of Slab & Flap door made of 18mm FR Ply with solid acrylic suface & inside laminate finish , Hydraulic hinges, SS knob, tower bolt etch.	Century Ply, FGV hinges	900x800	EA	1	8,800	8,800	-			Unutilized
11	Awining/Canvas	P& F Awinings on both of side Red & White Colour SRF make cloths with 40 mm x 40mm x3mm Thick Asian make squire aluminium pipe frame including 02 coat red oxide paint , 02 coat asian make primer, and 02 coat asian make oil paint on Rolling frame.	Cavas, HP Latex	4000x1000x1, 3000x1000x2	Sqm	10	3,600	36,000	-			Unutilized
12	Kitchen Wooden Counter	Providing & Installation of counter made of FR Plywood with approved shade laminate finish, 2 nos soft close drawers, storage, MS pipe support (As per approved GFC)	Century Ply, FGV hinges	2325x750x900	No.	1	52,405	52,405	-			Unutilized
13	Sink Cabinet	Providing and fixing of Sink counter made of 18mm FR Ply with laminate finish, 450x500mm SS 304 sink, storage, plumbing fitting etc.(As Per approved GFC)	Century/Merino, SS Sink	1500x750x900	No.	1	44,486	44,486	-			Unutilized
14	POS Counter	Providing and fixing of POS counter made of 18mm FR Ply with solid acrylic surface top finish, Step & inside laminate finish, two drawer, key board tray, 7 storage, wire manager etc. (As per approved GFC)	Century/Merino/ FGV	825x750x900	No.	1	42,000	42,000	-			Unutilized
15	Chiller Counter	Providing & Installation of counter made of FR Plywood with approved shade laminate finish, 2 nos soft close drawers, storage, MS pipe support  (As per approved GFC)	Century/Merino/ FGV	2025x750x900	No.	1	48,000	48,000		48,000	48,000	
16	Skink New Sensor Tap	Providing & Fitting of Sensor Tap as required	Euronics		Nos.	1	7,500	7,500				
17	Water Pump	Providing & Fitting of Waterpump as required	Crompton AQUAGOLD 100-33 Residential Water Pump Self Priming Regenerative 1 HP Single Phase		Nos.	1	8,500	8,500				Unutilized
18	Linear Profile Light	Providing & fixing linear profile light consealed in Rafter	Custom make	1200x1	No.	5	1,800	9,000				Unutilized
19	Electrical	Supply and Laying of 1.5mm, 2.5mm & 4sqmm wiring with PVC conduit, Samp & 15amp switch socket with box & plate, DB panel, MCB, ELCB, as per requirement or as approved electrical drawing	Polycab, Finolex, Roma, Crompton	4000x3000	EA	1	51,000	51,000				Unutilized
20	industrial Socket	Industrial Socket & Panel Box (32amp )			No.	5	3,200	16,000				Unutilized
21	Branding	Supply and pasting of HP latex printed artwork on grey back LG/Ivory/Pioneer media as per approved design artwork	HP Latex, 3M , LG Vinyl or equivalent	600x4000	Sqm	2	1,500	3,600				Unutilized

22	Signages1	Providing and fixing of backlit channelium raised signages, NGX LED & Osram water proof supply with all required support structure (1800x500x1 ps)	A cast , NGX , Osram		No.	1	16,000	16,000			Unutilized
23	Menu Board	Providing and fixing of Auto snap channel 32x32 powder coated with acrylic 040 & Clear Acrylic, edge lit LED, Changeable Translite Print.	A cast , NGX , Osram	2x 3	No.	В	4,500	13,500			Unutilized
24	TV Screen Menu	32" LED TV with hanging Stand	Samsung/LG		No.		28,000	-			Unutilized
25	CCTV Camera (4 Channel DVR)	DVR 5MP, 1 TB, 4 nos. 5MP Camera with Audio, 16" Display Monitor, 90mtr. D Link Wire	Hikvision		Set	1	38,600	38,600			Unutilized
26	Installation	Guwahati Airport			EA	1	52,000	52,000			Unutilized
27	Transportation	Guwhati Airport			EA	1	71,000	71,000			Unutilized
28	Labour Union Charges	Extra as on actual									Unutilized
29	Pendant Light	<b>LED Light fixtures-</b> Supply, installation, testing & commissioning of lighting fittings/ fixtures complete with LED driver, complete as required:- (Hanging Lamp)	Havells, Syska or equivalent		No.	4	2,500	10,000			Unutilized
30	Side Wall Partition	Supply & Fixing of Wooden laminate finish Partition , make of MS 40mm SHS pipe, with 8mm HMDR Cladding with approved wooden laminate finish , 5mm Acrylic tringle cutout as per design.		2.44x2.150x2	Sqm.	10	6,400	64,000			Unutilized
	TOTAL (B)							10,07,785		48,000	
	GRAND TOTAL (A+B)									9,69,352	
NOTE:	GST Extra										